

HARDY'S TYPE INEQUALITY FOR PSEUDO-INTEGRALS

B. DARABY, F. ROSTAMPOUR AND A. RAHIMI

ABSTRACT. In this paper, we prove Hardy's type inequality for two classes of pseudo-integrals. One of them concerns the pseudo-integrals based on a function reduces on the g-integral where pseudo-operations are defined by a monotone and continuous function g. The other one concerns the pseudo-integrals based on a semiring $([a, b], \max, \odot)$ where \odot generated.

2010 *Mathematics Subject Classification:* 03E72, 28E10, 26E50.

Keywords: Hardy type inequality, pseudo-addition, pseudo-multiplication, pseudo-integral.

1. INTRODUCTION AND PRELIMINARIES

Recently, some authors ([3, 10, 17, 18]) have studied some fuzzy integral inequalities. The purpose of this paper is to prove a Hardy type inequality for the pseudo-integrals.

Pseudo-analysis is a generalization of the classical analysis, where instead of the field of real numbers a semiring is taken on a real interval $[a, b] \subset [-\infty, \infty]$ endowed with pseudo-addition \oplus and with pseudo-multiplication \odot ([1, 2, 9, 11, 12, 19]). Based on this structure there where developed the concepts of \oplus -measure (pseudo-additive measure), pseudo-integral, pseudo-convolution, pseudo-Laplace transform and etc. ([4, 5, 6, 13, 15, 16, 18]).

The well-known Hardy inequality is a part of the classical mathematical analysis ([7]). The classical Hardy's integral inequality holds

$$\left(\frac{P}{P-1}\right)^P \int_0^\infty f^P(x)dx > \int_0^\infty \left(\frac{F}{x}\right)^P dx,$$

where $P > 1$ and $f : [0, \infty) \rightarrow [0, \infty)$ is an integrable function ($f \neq 0$) and $F(x) = \int_0^x f(t)dt$. Furthermore, for parameters a, b such that $0 < a < b < \infty$, the following inequality is also valid ([20]):

$$\left(\frac{P}{P-1}\right)^P \int_a^b f^P(x)dx > \int_a^b \left(\frac{F}{x}\right)^P dx,$$

where $0 < \int_0^\infty f^P(t)dt < \infty$. H. Román-Flores et al. have proved a Hardy type inequality for fuzzy integrals ([17]). The fuzzy Hardy’s integral inequality holds

$$\left(\int_0^1 f^P(x)dx \right)^{\frac{1}{P+1}} \geq \int_0^1 \left(\frac{F}{x} \right)^P dx \quad (1)$$

where $P \geq 1$, $f : [0, 1] \rightarrow [0, \infty)$ is an integrable function and $F(x) = \int_0^x f(t)dt$.

In this paper, we generalize their work for pseudo-integrals. In special case, if in the pseudo-integral version of the Hardy type inequality we put $\oplus = \max$ and $\odot = \min$, then we get the fuzzy Hardy type inequality that has been studied in ([17]) by H. Román-Flores et al.

Let $[a, b]$ be a closed (in some cases can be considered semiclosed) subinterval of $[-\infty, \infty]$. The full order on $[a, b]$ will be denoted by \preceq .

The operation \oplus (pseudo-addition) is a function $\oplus : [a, b] \times [a, b] \rightarrow [a, b]$ which is commutative, nondecreasing (with respect to \preceq), associative and with a zero (neutral) element denoted by $\mathbf{0}$, i.e., for each $x \in [a, b]$, $\mathbf{0} \oplus x = x$ holds (usually $\mathbf{0}$ is either a or b). Let $[a, b]_+ = \{x | x \in [a, b], \mathbf{0} \preceq x\}$.

Definition 1. *The operation \odot (pseudo-multiplication) is a function $\odot : [a, b] \times [a, b] \rightarrow [a, b]$ which is commutative, positively non-decreasing, i.e., $x \preceq y$ implies $x \odot z \preceq y \odot z$ for all $z \in [a, b]_+$, associative and for which there exists a unit element $\mathbf{1} \in [a, b]$, i.e., for each $x \in [a, b]$, $\mathbf{1} \odot x = x$.*

We assume also $\mathbf{0} \odot x = \mathbf{0}$ that \odot is a distributive pseudo-multiplication with respect to \oplus , i.e., $x \odot (y \oplus z) = (x \odot y) \oplus (x \odot z)$. The structure $([a, b], \oplus, \odot)$ is a semiring ([8, 17]). In this paper, we will consider semirings with the following continuous operations:

Case I: The pseudo-addition is idempotent operation and the pseudo-multiplication is not.

(a) $x \oplus y = \sup(x, y)$, \odot is arbitrary not idempotent pseudo-multiplication on the interval $[a, b]$. We have $\mathbf{0} = a$ and the idempotent operation \sup induces a full order in the following way: $x \preceq y$ if and only if $\sup(x, y) = y$.

(b) $x \oplus y = \inf(x, y)$, \odot is arbitrary not idempotent pseudo-multiplication on the interval $[a, b]$. We have $\mathbf{0} = b$ and the idempotent operation \inf induces a full order in the following way: $x \preceq y$ if and only if $\inf(x, y) = y$.

Case II: The pseudo-operations are defined by a monotone and continuous function $g : [a, b] \rightarrow [0, \infty]$, i.e., pseudo operations are given with $x \oplus y = g^{-1}(g(x) + g(y))$ and $x \odot y = g^{-1}(g(x)g(y))$. If the zero element for the pseudo-addition is a , we will consider increasing generators. Then $g(a) = 0$ and $g(b) = \infty$. If the zero element for the pseudo-addition is b , we will consider decreasing generators. Then $g(b) = 0$ and $g(a) = \infty$. If the generator g is increasing (respectively decreasing), then the

operation \oplus induces the usual order (respectively opposite to the usual order) on the interval $[a, b]$ in the following way: $x \preceq y$ if and only if $g(x) \leq g(y)$.

Case III: Both operations are idempotent. We have

(a) $x \oplus y = \sup(x, y), x \odot y = \inf(x, y)$, on the interval $[a, b]$. We have $\mathbf{0} = a$ and $\mathbf{1} = b$. The idempotent operation *sup* induces the usual order ($x \preceq y$ if and only if $\sup(x, y) = y$).

(b) $x \oplus y = \inf(x, y), x \odot y = \sup(x, y)$, on the interval $[a, b]$. We have $\mathbf{0} = b$ and $\mathbf{1} = a$. The idempotent operation *inf* induces an order opposite to the usual order ($x \preceq y$ if and only if $\inf(x, y) = y$).

Let X be a non-empty set. Let \mathbb{A} be a σ -algebra of subsets of a set X .

We shall consider the semiring $([a, b], \oplus, \odot)$, when pseudo-operations are generated by a monotone and continuous function $g : [a, b] \rightarrow [0, \infty]$, i.e., pseudo-operations are given with $x \oplus y = g^{-1}(g(x) + g(y))$ and $x \odot y = g^{-1}(g(x)g(y))$.

Then the pseudo-integral for a function $f : [c, d] \rightarrow [a, b]$ reduces on the g -integral ([12, 14]),

$$\int_{[c,d]}^{\oplus} f(x)dx = g^{-1}\left(\int_c^d g(f(x))dx\right). \quad (2)$$

More on this structure as well as corresponding measures and integrals can be found in [7, 11]. The second class is when $x \oplus y = \max(x, y)$ and $x \odot y = g^{-1}(g(x)g(y))$, the pseudo-integral for a function $f : \mathbb{R} \rightarrow [a, b]$ is given by

$$\int_{\mathbb{R}}^{\oplus} f \odot dm = \sup\left(f(x) \odot \psi(x)\right),$$

where function ψ defines sup-measure m . Any sup-measure generated as essential supremum of a continuous density can be obtained as a limit of pseudo-additive measures with respect to generated pseudo-additive [5]. For any continuous function $f : [0, \infty] \rightarrow [0, \infty]$ the integral $\int^{\oplus} f \odot dm$ can be obtained as a limit of g -integrals, [5]. We denoted by μ the usual Lebesgue measure on \mathbb{R} . We have

$$m(A) = \text{ess sup}\{x|x \in A\} = \sup\{a|\mu\{x|x \in A, x > a\} > 0\}.$$

Theorem 1. ([9]). *Let m be a sup-measure on $([0, \infty], \mathbb{B}[0, \infty])$, where $\mathbb{B}([0, \infty])$ is the Borel σ -algebra on $[0, \infty]$, $m(A) = \text{ess sup}_{\mu}(\psi(x)|x \in A)$, and $\psi : [0, \infty] \rightarrow [0, \infty]$ is a continuous density. Then for any pseudo-addition \oplus with a generator g there exists a family m_{λ} of \oplus_{λ} -measure on $([0, \infty], \mathbb{B})$, where \oplus_{λ} is a generated by g^{λ} (the function g of the power λ), $\lambda \in (0, \infty)$, such that $\lim_{\lambda \rightarrow \infty} m_{\lambda} = m$.*

Theorem 2. ([9]). *Let $([0, \infty], \sup, \odot)$ be a semiring, when \odot is a generated with g , i.e., we have $x \odot y = g^{-1}(g(x)g(y))$ for every $x, y \in (0, \infty)$. Let m be the same*

as in Theorem 2.1., Then there exists a family $\{m_\lambda\}$ of \oplus_λ -measures, where \oplus_λ is a generated by $g^\lambda, \lambda \in (0, \infty)$ such that for every continuous function $f : [0, \infty] \rightarrow [0, \infty]$,

$$\int^{\text{sup}} f \odot dm = \lim_{\lambda \rightarrow \infty} \int^{\oplus_\lambda} f \odot dm_\lambda = \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \left(\int g^\lambda(f(x)) dx \right).$$

Now, we recall the following inequality which is the pseudo version of Chebyshev’s inequality and appears ([1]).

Theorem 3. (Chebyshev’s inequality for pseudo-integrals). Let $f, h : [0, 1] \rightarrow [0, 1]$ be two measurable function and $g : [a, b] \rightarrow [0, \infty)$ be an increasing generator function for pseudo-operation. If f, h are comonotone, then the inequality

$$\int_{[0,1]}^{\oplus} (f \odot h) dx \geq \left(\int_{[0,1]}^{\oplus} f dx \right) \odot \left(\int_{[0,1]}^{\oplus} h dx \right)$$

holds.

Theorem 4. ([12]). For any measurable function f, f_1, f_2 and $\lambda \in \mathbb{R}$, we have

- (i) $\int_{[c,d]}^{\oplus} (f_1 \oplus f_2) dx = \int_{[c,d]}^{\oplus} f_1 dx \oplus \int_{[c,d]}^{\oplus} f_2 dx,$
- (ii) $\int_{[c,d]}^{\oplus} (\lambda \otimes f) dx = \lambda \otimes \int_{[c,d]}^{\oplus} f dx,$
- (iii) $f_1 \leq f_2 \implies \int_{[c,d]}^{\oplus} f_1 dx \leq \int_{[c,d]}^{\oplus} f_2 dx.$

2. HARDY’S INEQUALITY FOR PSEUDO-INTEGRALS

Our purpose in this section is to prove a Hardy type inequality for pseudo-integrals. Unfortunately, the following example shows that, the Hardy’s integral inequality is not valid for the pseudo-integrals.

Example 1. Let $f(x) = k$ where $k > 1$ and $P \geq 1$. If $g : [0, 1] \rightarrow [0, 1]$ is defined as follows

$$g(x) = x.$$

Then by using (2) we have

$$\begin{aligned}
 \left(\int_{[0,1]}^{\oplus} f^P(x) dx \right)^{\frac{1}{P+1}} &= \left(\int_{[0,1]}^{\oplus} k^P dx \right)^{\frac{1}{P+1}} \\
 &= \left(g^{-1} \int_0^1 g(k^P) dx \right)^{\frac{1}{P+1}} \\
 &= \left(g^{-1} \int_0^1 k^P dx \right)^{\frac{1}{P+1}} \\
 &= \left(g^{-1}(k^P) \right)^{\frac{1}{P+1}} \\
 &= \left(k^P \right)^{\frac{1}{P+1}} \\
 &= k^{\frac{P}{P+1}}.
 \end{aligned}$$

Since

$$F(x) = \int_{[0,x]}^{\oplus} f(t) dt,$$

then by (2) we obtain that

$$\begin{aligned}
 F(x) = g^{-1} \int_0^x g(f(t)) dt &= g^{-1} \int_0^x g(k) dt \\
 &= g^{-1} \int_0^x k dt \\
 &= g^{-1}(kx) \\
 &= kx.
 \end{aligned}$$

It follows that

$$\frac{F(x)}{x} = k.$$

So by using (2) we have

$$\begin{aligned}
 \int_{[0,1]}^{\oplus} \left(\frac{F}{x} \right)^P dx &= g^{-1} \int_0^1 g\left(\frac{F}{x} \right)^P dx \\
 &= g^{-1} \int_0^1 g(k^P) dx \\
 &= g^{-1} \int_0^1 k^P dx \\
 &= g^{-1}(k^P) \\
 &= k^P.
 \end{aligned}$$

Consequently, (1) is not valid for pseudo-integrals.

In order to prove Theorem 2.4. and 2.6. we need some Lemmas.

Lemma 5. *If $f : [0, 1] \rightarrow [0, 1]$ is a μ -measurable function and $g : [0, 1] \rightarrow [0, 1]$ is a continuous and decreasing function, then*

$$\int_{[0,1]}^{\oplus} f^P d\mu \geq \left(\int_{[0,1]}^{\oplus} f d\mu \right)^P \quad (3)$$

holds for all $P \geq 1$.

Proof. By induction: For $P = 2$, inequality (3) is valid by Theorem 1.4. For $P - 1$, we suppose that the Lemma is valid as follows

$$\int_{[0,1]}^{\oplus} f^{P-1} d\mu \geq \left(\int_{[0,1]}^{\oplus} f d\mu \right)^{P-1}.$$

Hence for P we have

$$\begin{aligned} \int_{[0,1]}^{\oplus} f^P d\mu &= \int_{[0,1]}^{\oplus} f \dots f d\mu \\ &\geq \int_{[0,1]}^{\oplus} (f^{P-1}) f d\mu. \end{aligned}$$

So from case $P = 2$, we get

$$\int_{[0,1]}^{\oplus} f^P d\mu \geq \left(\int_{[0,1]}^{\oplus} f d\mu \right)^P.$$

Thereby, the Lemma is proved.

Lemma 6. *Let $f : [0, 1] \rightarrow [0, 1]$ be a continuous function. If m be the same as in Theorem 2.1., and $g : [0, 1] \rightarrow [0, 1]$ is a continuous and decreasing function, then*

$$\int_{[0,1]}^{\sup} f^P dm \geq \left(\int_{[0,1]}^{\sup} f dm \right)^P$$

holds for all $P \geq 1$.

Proof. Using the same arguments in Lemma 2.2. proof is easy.

Theorem 7. (*Pseudo Hardy’s inequality*). Let $f : [0, 1] \rightarrow [0, 1]$ be a μ -measurable and $g : [0, 1] \rightarrow [0, 1]$ be a continuous and decreasing function. If

$$F(x) = \int_{[0,x]}^{\oplus} f(t)dt$$

where $x \in [0, 1]$, then the inequality

$$\left(\frac{P}{P-1}\right)^P \int_{[0,1]}^{\oplus} f^P(x)dx > \int_{[0,1]}^{\oplus} \left(\frac{F}{x}\right)^P dx \quad (4)$$

holds for all $P > 1$.

Proof. By using Lemma 2.2. we have

$$\begin{aligned} \int_{[0,1]}^{\oplus} \left(\frac{F}{x}\right)^P dx &= \int_{[0,1]}^{\oplus} \left(\frac{\int_{[0,x]}^{\oplus} f(t)dt}{x}\right)^P dx \\ &= \int_{[0,1]}^{\oplus} \frac{\left(\int_{[0,x]}^{\oplus} f(t)dt\right)^P}{x^P} dx \\ &\leq \int_{[0,1]}^{\oplus} \frac{\int_{[0,x]}^{\oplus} f^P(t)dt}{x^P} dx. \end{aligned}$$

Thus, by (2), we have

$$\begin{aligned} \int_{[0,1]}^{\oplus} \left(\frac{F}{x}\right)^P dx &\leq \int_{[0,1]}^{\oplus} \frac{\int_{[0,x]}^{\oplus} f^P(t)dt}{x^P} dx \\ &= \int_{[0,1]}^{\oplus} \int_{[0,x]}^{\oplus} \left(\frac{f^P(t)}{x^P}\right) dt dx \\ &= g^{-1} \int_0^1 g \int_{[0,x]}^{\oplus} \left(\frac{f^P(t)}{x^P}\right) dt dx \\ &= g^{-1} \int_0^1 g \left(g^{-1} \int_0^x g \left(\frac{f^P(t)}{x^P}\right) dt\right) dx \\ &= g^{-1} \int_0^1 \int_0^x g \left(\frac{f(t)}{x}\right)^P dt dx \\ &= g^{-1} \int_0^1 \int_0^x g(f(t))^P g\left(\frac{1}{x^P}\right) dt dx \\ &= g^{-1} \left(\int_0^1 g\left(\frac{1}{x^P}\right) dx\right) \left(\int_0^x g(f(t))^P dt\right). \end{aligned}$$

Since $\frac{1}{x^P} > 1$ and g is a decreasing function, we have $g(\frac{1}{x^P}) < g(1)$, It follows that

$$\begin{aligned} \int_{[0,1]}^{\oplus} \left(\frac{F}{x}\right)^P dx &\leq g^{-1}\left(\int_0^1 g\left(\frac{1}{x^P}\right)dx\right)\left(\int_0^x g(f(t))^P dt\right) \\ &< g^{-1}\left(\int_0^1 g(1)dx\right)\left(\int_0^x g(f(t))^P dt\right) \\ &= g^{-1}\left(gg^{-1}\int_0^1 g(1)dx\right)\left(gg^{-1}\int_0^x g(f(t))^P dt\right) \\ &= \left(\int_{[0,1]}^{\oplus} 1dx\right) \odot \left(\int_{[0,x]}^{\oplus} g(f(t))^P dt\right). \end{aligned}$$

By using Theorem(1.5.(ii)), we have

$$\begin{aligned} \int_{[0,1]}^{\oplus} \left(\frac{F}{x}\right)^P dx &< \left(\int_{[0,1]}^{\oplus} 1dx\right) \odot \left(\int_{[0,x]}^{\oplus} g(f(t))^P dt\right) \\ &< \left(\int_{[0,x]}^{\oplus} g(f(t))^P dt\right) \\ &< \left(\int_{[0,1]}^{\oplus} g(f(x))^P dx\right) \\ &< \left(\frac{P}{P-1}\right)^P \int_{[0,1]}^{\oplus} f^P(x)dx. \end{aligned}$$

Which complete the proof.

Example 2. Let $f(x) = \frac{1}{2}$, and $g : [0, 1] \rightarrow [0, \infty]$ define as follows $g(x) = \frac{1}{x^2}$. By using (2) we have

$$\begin{aligned} \int_{[0,1]}^{\oplus} f^P(x)dx &= g^{-1}\int_0^1 g(f^P(x))dx \\ &= g^{-1}\int_0^1 g\left(\left(\frac{1}{2}\right)^P\right)dx \\ &= g^{-1}\int_0^1 \frac{1}{\left(\frac{1}{2^P}\right)^2}dx \\ &= g^{-1}(2^{2P}) \\ &= \frac{1}{\sqrt{2^{2P}}} \\ &= \frac{1}{2^P}. \end{aligned}$$

Then a straightforward calculus shows that

$$\begin{aligned}
 F(x) &= \int_{[0,x]}^{\oplus} f(t)dt \\
 &= g^{-1} \int_0^x g\left(\frac{1}{2}\right)dt \\
 &= g^{-1} \int_0^x 4dt \\
 &= g^{-1}(4x) \\
 &= \frac{1}{\sqrt{4x}} \\
 &= \frac{1}{2\sqrt{x}}.
 \end{aligned}$$

It follows that,

$$\frac{F(x)}{x} = \frac{1}{2x\sqrt{x}} = \frac{1}{2}x^{-\frac{3}{2}}$$

On the other hand,

$$\begin{aligned}
 \int_{[0,1]}^{\oplus} \left(\frac{F}{x}\right)^p dx &= g^{-1} \int_0^1 g\left(\frac{F}{x}\right)^p dx \\
 &= g^{-1} \int_0^1 g\left(\frac{1}{2}x^{-\frac{3}{2}}\right)^p dx \\
 &= g^{-1} \int_0^1 \frac{2^{2P}}{x^{-3P}} dx \\
 &= g^{-1}\left(\frac{2^{2P}}{3P+1}\right) \\
 &= \frac{1}{\sqrt{\frac{2^{2P}}{3P+1}}}.
 \end{aligned}$$

This shows that the Hardy’s inequality is valid for pseudo-integral.

Now, we generalize the Hardy type inequality by the semiring $([a, b], \max, \odot)$, where \odot is generated.

Theorem 8. *Let $f : [0, 1] \rightarrow [0, 1]$ be a μ -measurable, $g : [0, 1] \rightarrow [0, 1]$ be a continuous and decreasing function and m be the same as in Theorem 2.1. If \odot is represented by a decreasing multiplicative generator g and*

$$F(x) = \int_{[0,x]}^{\sup} f dm$$

where $x \in [0, 1]$, then the inequality

$$\left(\frac{P}{P-1}\right)^P \int_{[0,1]}^{\sup} f^P dm > \int_{[0,1]}^{\sup} \left(\frac{F}{x}\right)^P dm \quad (5)$$

holds for all $P > 1$.

Proof. By using Lemma 2.3. and Theorem 1.3. we have

$$\begin{aligned} \int_{[0,1]}^{\sup} \left(\frac{F}{x}\right)^P dm &= \lim_{\lambda \rightarrow \infty} \int_{[0,1]}^{\oplus \lambda} \left(\frac{F}{x}\right)^P dm_\lambda \\ &= \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda \left(\frac{F}{x}\right)^P dx \\ &= \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda (F(x))^P g^\lambda \left(\frac{1}{x^P}\right) dx \\ &= \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda \left(\int_{[0,x]}^{\sup} f(t) dm \right)^P g^\lambda \left(\frac{1}{x^P}\right) dx \\ &= \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda \left(\lim_{\lambda \rightarrow \infty} \int_{[0,x]}^{\oplus \lambda} f(t) dm_\lambda \right)^P g^\lambda \left(\frac{1}{x^P}\right) dx \\ &\leq \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda \left(\lim_{\lambda \rightarrow \infty} \int_{[0,x]}^{\oplus \lambda} f^P(t) dm_\lambda \right) g^\lambda \left(\frac{1}{x^P}\right) dx \\ &= \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda \left(\lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^x g^\lambda (f^P(t)) dt \right) g^\lambda \left(\frac{1}{x^P}\right) dx \\ &= \lim_{\lambda \rightarrow \infty} \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 \int_0^x g^\lambda (g^\lambda)^{-1} g^\lambda (f^P(t)) g^\lambda \left(\frac{1}{x^P}\right) dt dx. \end{aligned}$$

Thus, we conclude

$$\begin{aligned} \int_{[0,1]}^{\sup} \left(\frac{F}{x}\right)^P dm &\leq \lim_{\lambda \rightarrow \infty} \lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 \int_0^x g^\lambda (f^P(t)) g^\lambda \left(\frac{1}{x^P}\right) dt dx \\ &= \left(\lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^x g^\lambda (f^P(t)) dt \right) \left(\lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda \left(\frac{1}{x^P}\right) dx \right). \end{aligned}$$

Since $\frac{1}{x^P} > 1$, g is a decreasing function and $\lambda \in (0, \infty)$, so we have

$$g^\lambda \left(\frac{1}{x^P}\right) < g^\lambda(1),$$

then

$$\begin{aligned}
 \int_{[0,1]}^{\sup} \left(\frac{F}{x}\right)^P dm &\leq \left(\lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^x g^\lambda(f^P(t))dt\right) \left(\lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda\left(\frac{1}{x^P}\right)dx\right) \\
 &< \left(\lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^x g^\lambda(f^P(t))dt\right) \left(\lim_{\lambda \rightarrow \infty} (g^\lambda)^{-1} \int_0^1 g^\lambda(1)dx\right) \\
 &< \left(\lim_{\lambda \rightarrow \infty} \int_{[0,x]}^{\oplus \lambda} (f^P(t))dm\right) \left(\lim_{\lambda \rightarrow \infty} \int_{[0,1]}^{\oplus \lambda} (1)dm\right) \\
 &< \left(\int_{[0,x]}^{\sup} f^P(t)dm\right) \\
 &< \left(\int_{[0,1]}^{\sup} f^P(x)dm\right) \\
 &< \left(\frac{P}{P-1}\right)^P \int_{[0,1]}^{\sup} f^P(x)dm.
 \end{aligned}$$

Which complete the proof.

Example 3. Let $f : [0, 1] \rightarrow [0, 1]$ be a μ -measurable, and $g^\lambda(x) = x^{-\lambda}$. So

$$x \oplus y = (x^{-\lambda} + y^{-\lambda})^{-\lambda} \quad \text{and} \quad x \odot y = xy.$$

Therefore Relation (5) reduces on the following inequality:

$$\sup \left(\left(\frac{F}{x}\right)^P + \psi(x) \right) < \left(\frac{P}{P-1}\right)^P \sup \left(f^P(x) + \psi(x) \right).$$

where ψ is from Theorem 2.1.

REFERENCES

- [1] H. Agahi, R. Mesiar, Y. Ouyang, Chebyshev type inequalities for pseudo-integrals, *Nonlinear Analysis* 72 (2010) 2737-2743.
- [2] G. Anastassiou, Chebyshev-Grüss type inequalities via Euler type and Fink identities, *Math. Comput. Modelling* 45 (2007) 1189-1200.
- [3] J. Caballero, K. Sadarangani, Firtz Carlson’s inequality for fuzzy integrals, *Computers and Mathematics with Applications* 59 (2010) 2563-2767.
- [4] B. Daraby, Generalization of the Stolarsky type inequality for pseudo-integrals, *Fuzzy Sets and Systems* 194 (2012) 90-96.

- [5] A. Flores-Franulič, H. Román-Flores, Y. Chalco-Cano, A note on fuzzy integral inequality of Stolarsky type, *Applied Mathematics and Computation* 196 (2008) 55-59.
- [6] A. Flores-Franulič, H. Román-Flores, A Chebyshev type inequality for fuzzy integrals, *Applied Mathematics and Computation* 190 (2007) 1178-1184.
- [7] G. H. Hardy. Notes on a theorem of Hilbert, *Math. Zeitschrift* 6 (1920) 314-317.
- [8] W. Kuich, *Semiring, Automata, Languages*, Springer-verlag, Berlin, (1986).
- [9] R. Mesiar, E. Pap, Idempotent integral as limit of g -integrals, *Fuzzy Sets and Systems* 102 (1999) 385-392.
- [10] Y. Ouyang, J. Fang, Sugeno integral of monotone functions based on Lebesgue measure, *Computers and Mathematics with Applications* 56 (2008) 367-374.
- [11] E. Pap, M. Štrboja, Generalization of the Jensen inequality for pseudo-integral, *Information Sciences* 180 (2010) 543-548.
- [12] E. Pap, g -calculus, *Univ. Novom Sadu Zb. Rad. Prirod.-Mat. Fak. Ser. Mat.* 23(1) (1993) 145-156.
- [13] E. Pap, Pseudo-additive measures and their applications, in: E. Pap (Ed.), *Handbook of Measure Theory*, Elsevier, Amsterdam. (2002), pp. 1403-1465.
- [14] E. Pap, An integral generated by decomposable measure, *Univ. Novom Sadu Zb. Rad. Prirod. -Mat. Fak. Ser. Mat.* 20(1) (1990) 135-144.
- [15] E. Pap, N. Ralević, Pseudo-Laplace transform, *Nonlinear Anal.* 33 (1998) 553-560.
- [16] E. Pap, *Null-additive Set Functions*, Kluwer, Dordrecht, (1995).
- [17] H. Román-Flores, A. Flores-Franulič, Y. Chalco-Cano, A Hardy-type inequality for fuzzy integrals, *Applied Mathematics and Computation* 204 (2008) 178-183.
- [18] H. Romn-Flores, A. Flores-Franulič, Y. Chalco-Cano, The fuzzy integral for monotone functions, *Applied Mathematics and Computation* 185 (2007) 492-498.
- [19] M. Sugeno, *Theory of fuzzy integrals and its applications*, Ph.D. Thesis, Tokyo Institute of Technology, (1974).
- [20] M. Z. Sarikaya, H. Yildirim, Some Hardy type integral inequalities, *J. Ineq. Pure Appl. Math.* 7 (5) (2006) (Article 178).

Bayaz Daraby
Department of Mathematics,
University of Maragheh, P. O. Box 55181-83111,
Maragheh, Iran
email: *bayazdaraby@yahoo.com, bdaraby@maragheh.ac.ir*

Fatemeh Rostampour
Department of Mathematics,
University of Maragheh, P. O. Box 55181-83111,
Maragheh, Iran
email: *fateme.rostampoor@yahoo.com*

Asghar Rahimi
Department of Mathematics,
University of Maragheh, P. O. Box 55181-83111,
Maragheh, Iran
email: *asgharrahimi@yahoo.com*